


Onpepenenue.

Modynem HeompuuameabHO20
delicmeume/ibHO20 YHMCJIa X Ha3bIBAIOT
CaMO 3TO YHCJIO: | X|=X; Modyem
ompuuamenbHO20 delicmeumenabHO20
YHCJIA X Ha3bIBAIOT IPOTHUBOIIOIOXKHOE
YUCa0: |Xx|=-x.

x,ecaux > 0:

x| = —x,ecau x < 0.




=S Hampuwmep,
v 17| = 7, mak kak 7 > 0

|—9| =9 mak kak —9 < 0

I\/§—2|=\/§—2,makkak\/§—2>0

‘\/3—6‘ = — (/5 — 6), mak kakV5 — 6 < 0



CBoucrBa Mmoayneun:
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.la+ b| = |a| + |b|




IeomeTrpuuyeckass Mmogenb
DeVICTBUTE/JILHOTIO YHljIa

p(a, b) - paccmosanue mexncdy uucaamuaub
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. —> l —>

a b X b a X
p(a, b)=b-a, b>a p(a, b)=a-b, a>b

p(a, b)=o0, b=a

p(a, b)= |a-b]
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Pem‘Te YPaBHEeHUE

13x — 11| = 4

3x—-11=4 N 3x—-11=—-4
3x =15 Ix =7
x=5

1
Omeem: 5;2§



1.xe(—o0; —7) U (0; +00) x> +7x=0
x“+7x=4x+ 10 e
L. Z)=D
x*+3x—-10=0 _Xéx )_ -
= B = x=0 mmx = —
=5 @ (==200;—7),2 € (0;00)
X<= =
2.x € [-7;0] —N\N—7 0 X
' +
—(x% +7x) = 4x+ 10 <) @ @

—x2—-11x-10=0
X1 — '—1,XZ = —-10

—1€|-7;0],—-10 ¢ |-7; 0]
Omeem: —1; 2.



Pe‘“(“’ P

1.x € (—00; —8) x—2=0 x+8=0
—(x—-2)—-(x+8)<4x+4 x =2 x=-8
—6xSlOz . oD -
x> —1— 4 —>
3 —_8 + 2 +X
‘@ .4 4x+85
_8 2 X
3

peweHull Hem
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iy | |
2.x € [-8;2) X — Z5T W —
: —>

—(x—2)+(x+8)<4x+4 — gt o, t X
—4x < -6 x4+ gl

x = 1,5
..

—8 1,5 2 4

x € [1,5;2)



Pem('re HepaBeH

3.x € [2; +00) ‘x—Z‘_ _‘ di.
x—2)+(x+8)<4x+ 4 — Y | +>X
—2x < -10 ) _—8 2
x+ 8
x=>D5
— @F 2 >
2 = X
X € [5; +00)

1.pewenuti Hem 2.x€ [1,5;2) 3.x € |B; 4:00)
Omeem:x € [1,5;2) U [5; +).



